Chapter 23 Problem II (+1)




Name _____________________

8. A voltaic cell is constructed using the following half-reactions.

Cu+2 + 2e- ( Cu(s)

E0 (Cu2+)= +0.34 V

Al+3 + 3e- ( Al(s) 

E0 (Al+3) = -1.66 V

      Determine the cell reaction and calculate the standard cell potential.

9. A voltaic cell is constructed using the following half-reactions.

Ag+ + 1e- ( Ag(s)

E0 (Ag+)= +0.80 V

Cu+2 + 2e- ( Cu(s) 

E0 (Cu+2) = +0.34 V

      Determine the cell reaction and calculate the standard cell potential.

10. Calculate the standard cell potential to determine whether this redox reaction will occur spontaneously.

3Zn+2 + 2Cr(s) ( 3Zn(s) + 2Cr+3
11. Is this redox reaction spontaneous as written?

Co+2 + Fe(s) ( Fe+2 + Co(s) 

34. Determine whether these redox reactions will occur spontaneously.  Calculate the standard cell potential in each case.

a) Cu(s) + 2H+ ( Cu+2 + H2(g) 

b) 2Ag(s) + Fe+2 ( 2Ag+ + Fe(s) 

More Practice:

Calculate E0cell to determine whether the following redox reaction is spontaneous as written.
Ni(s) + Fe+2(aq) ( Ni+2 + Fe(s)
